ping results

Experiment 1: client: 172.23.96.15, cluster = 172.23.96.16, 172.23.96.17
Experiment 2: client: 172.23.96.16, cluster = 172.23.96.16, 172.23.96.17

172.23.96.16 -> 172.23.96.16

. icmp_seqg=1 ttl=64 time=0.028 ms
. icmp_seqg=2 ttl=64 time=0.024 ms
. icmp_seqg=3 ttl=64 time=0.023 ms
. icmp_seq=4 ttl=64 time=0.023 ms
. icmp_seqg=5 ttl=64 time=0.023 ms
. icmp_seq=6 ttl=64 time=0.022 ms
: icmp_seg=7 ttl=64 time=0.022 ms
: icmp_seg=8 ttl=64 time=0.040 ms
: icmp_seg=9 ttl=64 time=0.022 ms
: icmp_seg=10 ttl=64 time=0.022 ms

. icmp_seg=2 ttl=64 time=0.190
: icmp_seg=3 ttl=64 time=0.189
. icmp_seg=4 ttl=64 time=0.135
: icmp_seg=5 ttl=64 time=0.185
: icmp_seq=6 ttl=64 time=0.216
: icmp_seqg=7 ttl=64 time=0.181
. icmp_seq=8 ttl=64 time=0.191
: icmp_seg=9 ttl=64 time=0.142

: icmp_seq=10 ttl=64 time=0.198
: icmp_seg=11 ttl=64 time=0.203
: icmp_seg=12 ttl=64 time=0.199
: icmp_seg=13 tt1=64 time=0.178
: icmp_seg=14 ttl=64 time=0.138

. icmp_seqg=1 ttl=64 time=0.627 ms
: icmp_seq=2 ttl=64 time=0.160 ms
. icmp_seqg=3 ttl=64 time=0.158 ms
: icmp_seg=4 ttl=64 time=0.162 ms
: icmp_seg=5 ttl=64 time=0.133 ms
: icmp_seg=6 ttl=64 time=0.170 ms
. icmp_seqg=7 ttl=64 time=0.147 ms
: icmp_seg=8 ttl=64 time=0.152 ms
: icmp_seg=9 ttl=64 time=0.150 ms
: icmp_seg=10 ttl=64 time=0.152 ms




: icmp_seg=11
: icmp_seqg=12
: icmp_seg=13

. icmp_seqg=14
: icmp_seg=15
. icmp_seg=16

. icmp_seg=17
: icmp_seg=18
: icmp_seg=19
. icmp_seq=20
: icmp_seg=21
: icmp_seqg=22

: icmp_seg=1
: icmp_seqg=2
. icmp_seqg=3

: icmp_seqg=4
: icmp_seqg=5
: icmp_seq=6

: icmp_seqg=7

: icmp_seqg=8

: icmp_seqg=9

: icmp_seq=10
: icmp_seg=11
: icmp_seqg=12
: icmp_seg=13
: icmp_seg=14
: icmp_seg=15
: icmp_seg=16
: icmp_seqg=17

: icmp_seg=18
: icmp_seg=19
. icmp_seq=20
: icmp_seqg=21




